MaTH 234 WORKSHEET 11

Problem 1 : Line integral of Functions
Compute the following line integral:
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Problem 2 : Line integral of Vector Fields e Folar s 4
C ute the following line int 1 of vector fields: -
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Problem 3 : Counservative Vector Field
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1. Given I’ = ( FeV + 2

) , 18 F conservative or not? If so, find the potential function.

y
2. Given F' = (z) , is F' conservative or not?
x

3. Consider the vector field in 3.1, ' is the upper half unit circle starting from (—1,0) to
(1,0), compute the line integral of vector field.
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